4000

3000
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1000
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,0,0

A~ 1 nuiL 9sye+ud [ 25
E 4194+ 0.0
-34.15+ 0.00

[ C =29.28 [ps/ch] 7]

1
50 100

TP delay [ns]

TVC(cbch) (0,0,4

- U 4p3e+04 / 25
= pO 4237+ 0.0
p1 -34.31% 0.00

[ C =29.14 [ps/ch]

50 5
TP delay [ns]

TVC(cbch) (O 0,8

-z 2uae+ud | 25
- po 4299+ 0.0
p1 -37.03 0.00

TP delay [ns]

TVC(Cbch) (o, O 12

~ s, r51e+U5 / 25
= po 4289+ 0.0
pl -35.78+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,01

A1 2ave+Ua | 25
= po 4201+ 0.0
pL -34.3+ 0.0

[ C =29.15[ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (0 0,5

- nun, 103e+04 / 25
e, pO 4241+ 0.0
p1 -34.61% 0.00

[ C =28.90 [ps/ch] 7]

50 105
TP delay [ns]

TVC(c,b ch) (0 0,9

-1 Soze+Ud [ 25
- po 4298+ 0.0
pL -35.72.+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, O 13

T nur.ulye+us / 25
4302+ 0.0
-35.1+ 0.0

[ C =28.49 [ps/ch] 7

P R TR |
50 100

TP delay [ns]
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1000
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1000

4000

3000
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1000

4000

3000

2000

1000

TVC(cbch) (0,0,2)

- C = 29.26 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0,0,6

A 1nuizu41e+04 /25
I=. po 4202+ 0.0
N p1 -34.18+ 0.00

- C=30.11 [psich] - 1

= 56
TP delay [ns]

TVC(eb,oh)=(0, 0, 10

1 nuip.455e+U5 / 25
__ DO 4311+ 0.0
[ p1 -35.77 + 0.00

- U bzze+u4 [ 25
- pO 4232+ 0.0
[ p1 -33.21+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,0,14

~1nuy, r03e+U5 / 25
- pD 4284+ 0.0
K pl -34.74 + 0.00

- C = 28.78 [ps/ch]

P R TR |
50 100

TP delay [ns]
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2000

1000

4000
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2000

1000

4000
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2000

1000

4000
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2000

1000

TVC(cbch) (0,0,3

AT 1 nuiz, 1obe+u4 / 25
F po 4199+ 0.0
pl -33.54+ 0.00

[ C=29.81[ps/ch] . ]
_L 1 %

TP delay [ns]

TVC(c,b ch) (0 0,7

-1 U, [ybe+u4 / 25
- pO 4260+ 0.0
p1 -34.57+ 0.00

[ C =28.93 [ps/ch] ]

50 100
TP delay [ns]

TVC(c,b ch) (o, O

SRR 5/be+l]5/25
pO 4317+ 0.0
-35.3+ 0.0

[ C =28.33 [ps/ch]

"l
50 00

TP delay [ns]

TVC(c,b ch) (0, O 15

TinuaiLus/e+u6 / 25
=3 4288+ 0.0
-34.08 + 0.00

[ C=29.35[ps/ch] . ]
——— 11;0-'
TP delay [ns]



TVC(cbch) (0,1,0)

4000

3000

2000

1000

AT rzse+04 /25
po 4240+ 0.0
-34.25+ 0.00

[ C =29.19 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0.1,4

4000

T Ly 3e+ud / 25
= pO 4266+ 0.0
p1 -34.48+ 0.00

3000 - T
2000~ T
0 C =29.00 [ps/ch] ™, 7
| L
50 100
TP delay [ns]
TVC(Cbch) (O 1,8) —
T iUy, 7 rge+ud 5
4000 [ pO 4266+ 0.0
pl -35.02 + 0.00
3000 T
2000~ T
w00 C = 28.56 [ps/ch] y
) L
0 50 100
TP delay [ns]
TVC(c,b ch) (0o, 1 12)
- 1 1ug yyse+U5 / 25
4000 [ pO 4315+ 0.0
pl -36.9+ 0.0

3000

2000

1000

P SR R By
50 100

TP delay [ns]
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1000

4000
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2000

1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (0,1,1

AT 1L sbye+ud [ 25
e po 4250+ 0.0
pl -35.06 + 0.00

[ C =28.52 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (0 1,5

-1 nuiLy34e+04 / 25
- 4273+ 0.0
-34.52 + 0.00

[ C =28.97 [ps/ch] 7]

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 1,9

T nugb11e+Us / 25
- po 4272+ 0.0
p1 -34.17 + 0.00

TP delay [ns]

TVC(cbch) (0,1,13

T 1 nug zoye+u5 / 25
= pO 4323+ 0.0
-37.63+ 0.00

TP delay [ns]
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2000

TVC(cbch) (0,1,2)

- C =27.78 [psi/ch

1
50 100

TP delay [ns]

TVC(cbch) (0,1,6

K™ 1 nuiz 1uye+ud / 25
__— po 4274+ 0.0
- pl -36+ 0.0

- C = 28.40 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (0, 1 10

©nuiLbE1e+U6 / 25
F DO 4286+ 0.0
- pl -35.05+ 0.00

-1 nuiy.499e+04 | 25
- pO 4286+ 0.0
X pl -35.21+ 0.00

TP delay [ns]

TVC(cbch) (0,1,14

1000

~ 1 nuigy40e+U5 / 25
__ pD 4306+ 0.0
L pl -36.67 + 0.00

PR IR SRR |
50 100

TP delay [ns]
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1000
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1000

4000
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2000

1000

TVC(cbch) (0,1,3

Trg.2/se+ud [ 25
=, pO 4275+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

TVC(c,b ch) (0 1,7

-1, /8oe+u5 / 25
pO 4283+ 0.0
p1 -34.38+ 0.00

[ C=29.09 [ps/ch] %, ]

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, l

T b‘Jée+U6/25
po 4285+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(cbch) (01,15

71 nup,zose+U5 / 25
- pO 4313+ 0.0
p1 -36.75+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000 ]
2000~ 7]
10001~ C ]
1 1 "
50 100
TP delay [ns]
TVC(cbch) (0,2,8)
© 1 nuiL435e+U5 / 25
4000 [, pO 4282+ 0.0
p1 -35.57+ 0.00
3000 - 7
2000~ ]
-
o0 C = 28.11 [ps/ch] ]
1 1 -
b 50 100
TP delay [ns]
TVC(c,b ch) (0,212
4000

3000

2000

1000

TVC(cbch) (0,2,0

A~ 1 nuiL9sre+ud [ 25
= po 4262+ 0.0
p1 -36.28+ 0.00

TP delay [ns]

TVC(cbch) (02,4

- Ui gye+u4 [ 25
= po 4244+ 0.0
pl -35.67 + 0.00

1 1up,poye+Us / 25
po 4294+ 0.0
pl -36.55+ 0.00

L n n n n 1 L=
50 100

TP delay [ns]
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1000
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1000

4000
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1000

TVC(cbch) (0,2,1

A7 1 nuiLyooe+u4 / 25
= po 4255+ 0.0
p1 -35.46 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (0 2,5

“nubrge+ud [ 25
e, pO 4263+ 0.0
pL -36.52:+ 0.00

TP delay [ns]

TVC(eb,oh)=(0,2,9

T nuy.g/Ye+us [ 25
pO 4306+ 0.0
p1 -36.11+ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (0, 2 13

T nu.8e+U5 [ 25
frvase pO 4281+ 0.0
pl -36.59 + 0.00

TP delay [ns]
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0
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TVC(cbch) (0,2,2)

- C = 27.93 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (0,2,6

T nug.8/be+u4 | 25
- pO 4260+ 0.0
- pl -36.27 + 0.00

X~ 1z 1yse+u4 | 25
- po 4271 0.0
L pl -35.8+ 0.0

TP delay [ns]

TVC(CbCh) (0, 2 10

T nun1.8Ye+U6 / 25
= po 4302+ 0.0
N p1 -35.86 + 0.00

TP delay [ns]

TVC(cbch) (0,214

T rnun.y41e+05 / 25
e pD 4297+ 0.0
| pl -36.94 + 0.00

50 100

TP delay [ns]
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1000
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1000

TVC(cbch) (0,2,3)

- pO 4281% 0.0
pL -36.54 + 0.00

1w zoze+ud [ 25

TP delay [ns]

TVC(c,b ch) (0 2,7

3 pO 4284+ 0.0
p1 -37.06+ 0.00

-1 nu, (ope+U5 / 25

TP delay [ns]

TVC(eheh=(0, 2,

po 4299+ 0.0
p1 -35.64 + 0.00

g ‘Jb::e+l]6/25

TP delay [ns]

TVC(c,b ch) (0, 2 15

E po 4293+ 0.0
p1 -36.73  0.00

1 nur.452e+U5 / 25

TP delay [ns]
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1000
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2000

1000

TVC(cbch) (0,3,0)

X~ 1z uove+u4 [ 25
po 4260+ 0.0
p1 -36.12+ 0.00

TP delay [ns]

TVC(cbch) (0,34

- 1 i BBYe+ud / 25
pO 4245+ 0.0
p1 -34.79:+ 0.00

[ C=28.74[ps/ch]\,_ ]
- o
TP delay [ns]
TVC(cbch) (O 3,8) —
T nuz u3se+us 5
= pO 4274:‘
pL -34.64 + 0.00
- o
TP delay [ns]
TVC(c,b ch) (0o, 3 12

T e, 3ure+U5 / 25
pO 4307+ 0.0
pl -36.55+ 0.00

L n n n n 1
50 100

TP delay [ns]
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1000
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (0,31

AT 1nuiLyrze+ud | 25
po 4257+ 0.0
p1 -34.97 + 0.00

[ C =28.60 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (0 3,5

-1 nui agve+ud | 25
= po 4250+ 0.0
pl -35.26 + 0.00

TP delay [ns]

TVC(c,b ch) (0 3,9

T nuiLu43e+u6 / 25
— pO 4281+ 0.0
-35+ 0.0

TP delay [ns]

TVC(c,b Ch) (0, 3 13

Tinuzz1e+U5/ 25
pO 4296+ 0.0
p1 -35+ 0.0

TP delay [ns]
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1000
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3000

2000

TVC(cbch) (0,3,2)

TP delay [ns]

TVC(cbch) (0,36

X~ 1wz 333e+04 [ 25
- po 4272+ 0.0
[ p1 -36.11+ 0.00

3000

- Uy, 382e+04 [ 25
- pO 4270+ 0.0
[ pl -36.68+ 0.00

TP delay [ns]

TVC(eb,oh)=(0, 3, 10

T a8 /2e+U6 / 25
= po 4287+ 0.0
N p1 -34.77 + 0.00

TP delay [ns]

TVC(cbch) (0,3 14

1000

T 1nuip57 (e+U5 /25
pD 4317+ 0.0
pl -36.12+ 0.00

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000
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1000

4000
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2000

1000

TVC(cbch) (0,3,3

A~ 1 ug Ygse+ud | 25
- po 4282+ 0.0
pL -35.87+ 0.00

C =27.88 [ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (0 3,7

-1 nug 139e+us / 25
po 4275+ 0.0
p1 -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 3

T, /ue+u6/25
pO 4296+ 0.0
p1 -35.47 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 3 15

T nuy. syse+U5 / 25
pO 4309+ 0.0
p1 -35.06 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000
3000 ]
2000 = ]
1000 C 7
1 1 "
50 100
TP delay [ns]
TVC(cbch) (0,4,8)
© 1 nug ybae+ud [ 25
4000 [ pO 4276+ 0.0
pl -34.9+ 0.0
3000 - 7
2000 |- 7
10r C =28.65 [ps/ch]™,, 7]
1 1 -
b 50 100
TP delay [ns]
TVC(c,b ch) (0,4,12
4000

3000

2000

1000

TVC(cbch) (0,4,0

A~ 1 nuig 1yoe+ud / 25
e po 4265+ 0.0
p1 -36.99 + 0.00

TP delay [ns]

TVC(cbch) (04,4

- rnuilaze+04 [ 25
== po 4259+ 0.0
pl -36.37 + 0.00

- 1 nuiz.4o0e+U5 / 25
4281+ 0.0
-36.31+ 0.00

L n n n n 1
50 100

TP delay [ns]
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1000
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,1

A1z Lsaerud | 25
e, po 4243+ 0.0
pL -35.46 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (0 4,5

-1 nu 188e+u4 / 25
e pO 4262+ 0.0
pL -36.79+ 0.00

TP delay [ns]

TVC(c,b ch) (0 4,9

- nan 4e+U5/ 25
pO 4285+ 0.0
pL -34.86+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 4 13

T inuz.z1se+us [ 25
pO 4290+ 0.0
p1 -36.26 + 0.00

P R T
50 100

TP delay [ns]

4000

2000

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (0,4,2)

1000

TP delay [ns]

TVC(cbch) (04,6

A~ 1 nugs1ae+ud | 25
-, po 4283+ 0.0
L pl -38.02+ 0.00

3000

Tz bz3e+u4 | 25
e pO 4284+ 0.0
[ pl -37.88+ 0.00

TP delay [ns]

TVC(eb,oh)=(0, 4, 10

T B.09e+U5/ 25
po 4304+ 0.0
pl -35.38 + 0.00

TP delay [ns]

TVC(cbch) (0,4,14

T rnuiz4/0e+05 / 25
3 pD 4281+ 0.0
L p1 -36.56 + 0.00

PR R R S R |
50 100

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,3)

po 4287+ 0.0
pL -36.53  0.00

A~ 1 nuizpyre+ud [ 25

TP delay [ns]

TVC(c,b ch) (0 4,7

= po 4276+ 0.0
p1 -37.09+ 0.00

~nue, /13e+04 / 25

TP delay [ns]

TVC(c,b ch) (0, 4

po 4311% 0.0
p1 -35.92:+ 0.00

Jnurg uu/e+u6/25

TP delay [ns]

TVC(c,b ch) (0, 4 15

- po 4292 0.0
p1 -37.33+ 0.00

1 nuiz, 100e+U5 / 25

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000
3000~ 7]
2000 = 7
wor C =29.09 [ps/ch] ™\, 7
1 1 -
b 50 00
TP delay [ns]
TVC(c,b ch) (0o, 5 12

1000 11 py4e+U5 / 25

3000

2000

1000

TVC(cbch) (0,5,0

X~ 1 sr0e+U4 /25

b po 4237+ 0.0
pL -36.62  0.00

TP delay [ns]

TVC(cbch) (05,4

- i b43e+04 / 25

e, pO 4249+ 0.0
p1 -35.17:+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (O 5,8

1 nup, 153e+U4 / 25

e pD 4235+ 0.0
-34.38+ 0.00

4240+ 0.0

5, 12) —‘
-34.51+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

TVC(cbch) (0,51

A 1L Syaerud | 25
- po 4237+ 0.0
pL -37.53+ 0.00

TP delay [ns]

TVC(c,b ch) (0 55

~1nui b4 re+04 [ 25
e pO 4240+ 0.0
pL -36.09+ 0.00

TP delay [ns]

TVC(c,b ch) (0 59

<1 nui/ Ubbe+us / 25
— pO 4248+ 0.0
-35.2+ 0.0

1
50 00

TP delay [ns]

TVC(c,b Ch) (0, 5 13

-1 nug. z0ve+U5 / 25
pO 4249+ 0.0
pl -34.42 + 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (0,5,2)

TP delay [ns]

TVC(cbch) (0,56

T Love+ud /25
F== pO 4242+ 0.0
L p1 -36.71+ 0.00

3000

- 11Uy 395e+04 [ 25
- pO 4248+ 0.0
[ pl -35.86 + 0.00

- C =27.89 [ps/ch

50 10'0
TP delay [ns]

TVC(eb,oh)=(0, 5, 10

1000

1 UL bb3e+U6 / 25
F po 4264+ 0.0
o pl -34.89+ 0.00

TP delay [ns]

TVC(cbch) (0,5,14

1000

-1 nuig.4upe+U5 / 25
F pD 4255+ 0.0
L p1 -35.4+ 0.0

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,5,3

= po 4242+ 0.0
p1 -36.12+ 0.00

A~ 1 nuiLbyle+ud / 25

TP delay [ns]

TVC(c,b ch) (0 57

=1 nui oBe+u5 / 25
4252+ 0.0
33.7+ 0.0

[ C=29.68 [ps/ch] . 7
+ o
TP delay [ns]

TVC(c,b ch) (0, 5

po 4256+ 0.0
p1 -34.38+ 0.00

s nurg, /':ue+U6 125

TP delay [ns]

TVC(c,b ch) (0, 5 15

5,15) —‘
—— 4251+ 0.0

1. 2/e+U5 /25

34.91+ 0.00

TP delay [ns]



4000

3000
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1000

4000

3000
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1000

4000

3000
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1000

4000

3000

2000

1000

TVC(cbch) (0,6,0)

X~ 1w bose+U4 [ 25
4265+ 0.0
p1 -36.43 + 0.00

TP delay [ns]

TVC(cbch) (06,4

- 1L 99ge+ud [ 25
= po 4253+ 0.0
pl -36.32+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (O 6,8

-1, 7age+ud | 25
e po 4269+ 0.0
p1 -36.48+ 0.00

TP delay [ns]

TVC(cbch) (0,6,12

~ 1 up.4u1e+U5 / 25
po 4269+ 0.0
pl -34.72+ 0.00

TP delay [ns]
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4000

3000
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1000

4000 5,

3000

2000

1000

TVC(cbch) (0,6,1)

X

e, po
pL

1L g41e+u4 / 25
4256 + 0.0
-35.86 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (0 6,5

“nu1/1e+u4 /25
e pO 4235 0.0
pL -35.17+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,9

T nu.z3ze+U5 [ 25
- po 4275+ 0.0
p1 -36.07 + 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (0, 6 13

T nug, 119e+U5 / 25
pO 4265+ 0.0
p1 -34.93+ 0.00

TP delay [ns]
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1000

0

4000
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1000

TVC(cbch) (0,6,2)

po

pl

- C = 28.11 [ps/ch]

X~ 1 i Yyse+u4 [ 25
4260+ 0.0
-35.58+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (06,6

- C =27.97 [ps/ch

1 nuie,Yvge+u4 | 25
= pO 4253+ 0.0
- pl -35.75+ 0.00

3000

50 10'0
TP delay [ns]

TVC(eb,oh)=(0, 6, 10

Tnun1pse+u6 / 25
po 4295+ 0.0
p1 -36.81+ 0.00

TP delay [ns]

TVC(Cbch) (o, 6 14

T g se+U5 /25
e, pD 4270+ 0.0
[ p1 -35.62+ 0.00

3000

P R T
50 100

TP delay [ns]
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1000
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1000

4000
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1000

4000

3000

2000

1000

TVC(cbch) (0,6,3)

o po

A1 nug.Us1e+ud / 25
4277+ 0.0
-36.19:+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (0 6,7

-1 nu 103e+U5 / 25
pO 4245 0.0
p1 -34.75+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 6

T ﬁbie+l}6/25
po 4309+ 0.0
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3000

2000

1000

wor C = 29.51 [ps/ch] ™, ]
s

4000

3000

2000

1000

TVC(cbch) (3,0,0

K™ 1wz zose+U4 [ 25
- po 4265+ 0.0
p1 -37.97+ 0.00

TP delay [ns]

TVC(eb.ch)=(3,0, 4

-z g13e+ud / 25
= pO 42774 0.0
p1 -37.48+ 0.00

50 00
TP delay [ns]

TVC(eb,ch)=(3, 0,8

_ -1 Soae+ud | 25
e po 4222+ 0.0
-33.89+ 0.00

TP delay [ns]

TVC(Eeb.eh)=(3, 0, 12

-1 nug zzae+U5 [ 25
= po 4290+ 0.0
p1 -35.44 + 0.00

[ C =28.22 [ps/ch]

P R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVO(ebieh)=(3,0, 1

X~ 1wz 140404 | 25
== po 4233+ 0.0
pL -36.52:+ 0.00

TP delay [ns]

TVC(ebeh)=(3,0,5

S nungse+ud [ 25
4267+ 0.0
-36.6 + 0.0

50 T
TP delay [ns]

TVC(eb,oh)=(3, 0,9

1 nurg.5Zoe+U5 / 25
pO 4256+ 0.0
p1 -34.44 + 0.00

[ C =29.04 [ps/ch]

1
50 00

TP delay [ns]

TVC(ebeh)=(3, 0,13

1 nuiz voye+us / 25
= pO 4276+ 0.0
p1 -35.53+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

:
10005‘ C =29.63 [ps/ch] ™. '
! :

4000

3000
2000

1000

TVC(cbch) (3,0,2)

TP delay [ns]

TVC(cbch) (3,06

1000

X~ 1z, 1o4e+04 [ 25
- po 4253+ 0.0
L pl -37.03+ 0.00

3000

-1, 038e+u4 [ 25
- pO 42911 0.0
[ p1 -37.93+ 0.00

TP delay [ns]

TVC(CbCh) (3, 0 10

_ -1 L a4e+U6 1 25
= pO 4242+ 0.0
[ pL -33.75+ 0.00

TP delay [ns]

TVC(ebeh)=(3, 0, 14

- 1 1uiz,p40e+U5 | 25
F-. pD 4286+ 0.0
[ pl -35.96 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,3

A~ 1 nuiz9yse+ud | 25
- po 4261% 0.0
pL -37.02:+ 0.00

TP delay [ns]

TVC(ebeh)=(3,0,7

“ 1386405 / 25
- pO 4295+ 0.0
p1 -37.81% 0.00

50 100
TP delay [ns]

TVC(e.hch)=(3, 0, 1

- T 144e+u6/25
- po 4252+ 0.0
p1 -34.48 + 0.00

[ C =29.00 [ps/ch]

L
5 00

TP delay [ns]

TVC(eben)=(3, 0,15

- 1 uts 120e+U5 1 25
- 4266+ 0.0
-34.49+ 0.00

[ C =28.99 [ps/ch] ]

M I
50 00

TP delay [ns]



TVC(cbch)(SlO) TVC(cbch)(31l) TVC(cbch)(312) TVC(cbch)(313)
ATz 3z3e+04 [ 25 A rnwaizare+ud | 25 o znse+ud [ 25 A1, froe+ud | 25

4000 PO 4240+ 0.0 4000 e, po 4247 + 0.0 4000 ._- po 4238+ 0.0 4000 Fun, po 4260+ 0.0
pl -37.04 + 0.00 pl -36.88+ 0.00 : pl -36.12 i_0.00 pl -36.05+ 0.00

3000

1 3000 =1 3000 -1 3000 -

2000 7 2000 2000 - 2000

1000 1 1000 1000 i 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (31,4 TVC(cbch) (3,1,5 TVC(cbch) (31,6 TVC(cbch) (31,7

-1z 6uye+ud / 25 “rnuzy/e+u4 [ 25 - rugb13e+u4 / 25 4000 -1 nui 3b3e+U5 / 25
4000 pO 4259+ 0.0 4000 e, pO 4246+ 0.0 4000 4265 0.0 - pO 4273+ 0.0
pl -35.97 + 0.00 pL -35.36 + 0.00 3 -36.1+ 0.0 pL -36.47 + 0.00

3000~ 4 3000 - 3000 - 3000 4

2000 - - 2000 i 2000 - 2000 1

1000 C E 1000 o 1000 . 1000 E

-- - ] --
1 1 1 1 1 1
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.ch)=(3, 1,8) TVC(eb,oh)=(3,1,9) TVC(eb.oh)=(3, 1, 10) TVC(e.heh)=(3, 1, 11)
T nun.Usze+u4 | 25 <1 nui, 7ube+U5 / 25 T L z1ze+06 / 25 T naiz4/e+U6 / 25
4000 [, 4000 [, 4000 2, 4000 [,
= PD 4245+ 0.0 - DO 4248+ 0.0 ™ DO 4238+ 0.0 ™ pO 4257+ 0.0
pl -35.27 + 0.00 pl -35.98 + 0.00 I pl -34.67 + 0.00 pl -35.92+ 0.00

-1 3000

3000 N 3000 - 3000 1

2000 - 2000 2000 J 2000

- 1000 1000

1000

ol ¢ = 28.84 [ps/ch]

o 1
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(3112) TVC(cbch)(3113) TVC(cbch)(Sll ) TVC(cbch)(3115)
~ vy, gooe+U5 / 25 1 nuiz.ugbe+Us / 25 Tz, r5re+U5 / 25 Tonan 3.80e+U5 /25
4000 o, pO 4261+ 0.0 4000 fo, pO 42754 0.0 000 o PD 4259+ 0.0 4000 o 4267+ 0.0
-34.49+ 0.00 pl -36.54 + 0.00 r pl -35.48+ 0.00 -35.04 + 0.00

- 3000

3000~ 7] 3000 N 3000 = -1

20001 2000 _ 2000 N 2000 -

ol C = 29,00 [ps/ch] o 1 Wb C = 28.54 [ps/ch]y, 1

PR B SRS | P B
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,0)

b po

X~ 1w yzve+U4 [ 25
4227+ 0.0
p1 -35.58+ 0.00

TP delay

TVC(cbch) (3,24

[ns]

T rnun 2.30e+04 /25
4235+ 0.0
-35.5+ 0.0

50 10'0
TP delay

TVC(eb.oh)=(3, 2,8

[ns]

2,8)
1 g.u3e+u4 / 25
4000 [ pD 4278+ 0.0
-35.58:+ 0.00
3000 - 7
2000~ 7]
o0 C = 28.11 [ps/ch] ]
1 1 -
o 50 00
TP delay [ns]
TVC(c,b ch) (3,212
4000 &

3000

2000

1000

-1z gsve+Us / 25
4277+ 0.0
-35.3+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,2,1)

po

AT 1 nuiLysve+u4 / 25
4249+ 0.0
-36.66 + 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (3 2,5

-1 nuz.yloe+ud / 25
4262+ 0.0
-36.85+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 2,9

pO
pl

~ 1 nug.guse+us / 25
4286+ 0.0
-36.23 + 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (3, 2 13

T nui gyse+us / 25
4279+ 0.0
-35.63+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000

2000

1000

1000

0

TVC(cbch) (3,2,2)

F=. po

X~ 1z 3yze+u4 [ 25
4256+ 0.0
p1 -37.38+ 0.00

TP delay

TVC(cbch) (32,6

[ns]

- g 312e+04 [ 25
4260+ 0.0
-36.3+ 0.0

TP delay

TVC(CbCh) (3, 2 10

= "

[ns]

~ 1 nuiLbu/e+U6 / 25
4318+ 0.0
p1 -37.84+ 0.00

TP delay

TVC(Cbch) (3, 2 14

pD
pl

[ns]

T Lgse+us/ 25
4272+ 0.0
-35.21+ 0.00

- C = 28.40 [ps/ch]

PR R R S R |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,3)

e po

pl

A~ 1 nuz.49se+u4 | 25
4256+ 0.0
-37.09+ 0.00

TVC(c,b ch) (3 2,7

pO
pl

1
100

TP delay [ns]

-1 nu 142e+05 / 25
4261+ 0.0
-35.66 + 0.00

[ C =28.05[ps/ch

50

100

TP delay [ns]

TVC(eheh=(3, 2,

pO

pl

T bU‘Je+U6/25
4311+ 0.0
-36.93 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 2 15

T 1nuiz [b3e+u5 / 25
4285+ 0.0
-35.15+ 0.00

PR
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,0

A~ 1 nui Syze+u4 [ 25
= po 4246+ 0.0
p1 -35.65+ 0.00

TP delay [ns]

TVC(cbch) (3,34

- i Bgbe+ud [ 25
== po 4265+ 0.0
pl -34.18 + 0.00

[ C=29.26 [ps/ch] .

50 10'0
TP delay [ns]

TVC(cbch) (3 3,8

- 5yge+ud | 25
- pD 4267+ 0.0
p1 -35.14 £ 0.00

[ C =28.46 [ps/ch]

1
o 50 00

TP delay [ns]

TVC(cbch) (3,312

T, 1sze+05 / 25
po 4283+ 0.0
p1 -35.7+ 0.0

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,3.1)

“row srerud ] 25
pO 4256+ 0.0
pL -36.47 £ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

[ C =28.34 [ps/ch] 7]

-1 nu 2uze+u4 [ 25
4280+ 0.0
-35.29 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (3 3,9

~ 1 nu.UrYe+us / 25
po 4267+ 0.0
p1 -34,53+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 3 13

T nuzvble+us/ 25
pO 4285+ 0.0
p1 -35.82+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (3,3,2)

- C = 27.84 [ps/ch

X~ 1, ise+ud | 25
- po 4271+ 0.0
[ pl 3592 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,36

- C =28.17 [ps/ch]

- 11Uy b1ze+u4 [ 25
- pO 4288+ 0.0
[ p1 -35.49+ 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(3, 3, 10

© 1 nuiL452e+U6 / 25
po 4291+ 0.0
p1 -35.31+ 0.00

TP delay [ns]

TVC(cbch) (3,314

T rnuiLz4ze+05 / 25
4270+ 0.0
-35.8 + 0.0

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,33

A~ 1 nuizzsse+ud [ 25
Fem, po 4268+ 0.0
pL -34.5+ 0.0

C =28.99 [ps/ch]

L

50 100

TP delay [ns]

TVC(c,b ch) (3 3,7

S nuiLS( e+us /25
po 4299+ 0.0
pl -34.48 + 0.00

[ C =29.00 [ps/ch] -]
+ o
TP delay [ns]

TVC(c,b ch) (3, 3

T 45::e+u6/25
pO 4293+ 0.0
-36.36 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 3 15

Tinan3.0/e+U5 /25
4290+ 0.0
-36.31+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,0

A~ 1 nui roye+u4 / 25
= po 4252+ 0.0
p1 -36.66+ 0.00

TP delay [ns]

TVC(cbch) (34,4

- i 783e+04 [ 25
=5 po 4286+ 0.0
pl -36.03+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 4,8

1 nuiLya4e+05 / 25
pD 4261+ 0.0
p1 -34.22+ 0.00

TP delay [ns]

TVC(Cbch) (3, 4 12

T rnun.5rze+05 / 25
po 4285+ 0.0
pl -36.27 + 0.00

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

TVC(cbch) (3,4,1

AT 1 nuiz,120e+u4 [ 25
- po 4249+ 0.0
p1 -36.2+ 0.0

TP delay [ns]

TVC(c,b ch) (3 4,5

-1 nu.blbe+u4d / 25
- pO 4291+ 0.0
pL -36.69+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,9

1 nuiLz49e+U6 / 25
- po 4273+ 0.0
p1 -34.64 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 4 13

Tinug/ze+U5 [ 25
4274+ 0.0
-37.11+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (3,4,2)

X~ 1 iz zsse+u4 | 25
- po 4244+ 0.0
L pl -35.75+ 0.00

3000

TP delay [ns]

TVC(cbch) (34,6

~ 1. B15e+u4 / 25
- pO 4299+ 0.0
[ p1 -37.33+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(3, 4, 10

T a3 r8e+U6 / 25
po 4277+ 0.0
p1 -35.44 + 0.00

TP delay [ns]

TVC(Cbch) (3, 4 14

- 11y psoe+U5 / 25
4273+ 0.0
-36.7 + 0.0

50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,3

A1 nuizY13e+ud [ 25
- po 4264+ 0.0
pL -36.8+ 0.0

TP delay [ns]

TVC(c,b ch) (3 4,7

- 1 nug 3yve+ud | 25
[Roces, po 4306+ 0.0
p1 -35.93+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 4

EEALEVX U‘Jbe+U6/25
pO 4280+ 0.0
p1 -34.61+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 4 15

- L1 74e+U5 ] 25
pO 4282+ 0.0
-36.05+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,0)

AT 1 nuiLs10e+04 /25
po 4259+ 0.0
-35.23+ 0.00

0

[ C =28.38 [ps/ch] ]
% .
TP delay [ns]
TVC(cbch) (3,54)
T Zs3e+ud [/ 25
-35.34+ 0.00
[ C =28.30 [ps/ch] ]
% o
TP delay [ns]
TVC(cbch) (3 5,8) -
T rnuy 41 re+U4 5
e 4294:‘
-34.91+ 0.00
[ C=28.64[ps/ich] ™, 1
% o
TP delay [ns]
TVC(c,b ch) (35,12

Ty urve+Us / 25
pO 4341+ 0.0
pl -36.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51)

AT 1z zoe+ud [ 25
po 4285+ 0.0
pl -35.71+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 55

[ C =28.84 [ps/ch] 7]

“rnuby/e+u4 /25
4260+ 0.0
-34.67 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

[ C =28.45 [ps/ch]

1 nuw.oYoe+U5 / 25
po 4315+ 0.0
pl -35.15+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (3,5,13

1 nuispbye+U5 / 25
pO 4333+ 0.0
-36.61+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(cbch) (3,5,2)

K™ 1 nuza43e+04 /25
po 4290+ 0.0
pl -35.86+ 0.00

- C = 27.88 [ps/ch 1
2 o
TP delay [ns]
TVC(c,b ch) (3,56

- C =29.11 [ps/ch]

-1 yz4e+u4 [ 25
pO 4262+ 0.0
pl -34.35+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3, 5 10

- C = 28.86 [ps/ch]

1 nuiLbu4e+U6 / 25
po 4324+ 0.0
p1 -34.65+ 0.00

0

1
50 100

TP delay [ns]

TVC(cbch) (3,5,14

T rnug.413e+05 / 25
pD 4332+ 0.0
pl -36.65+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3)

[ C =27.96 [ps/ch

ATz gze+u4 1 25
po 4298+ 0.0
pl -35.77 + 0.00

L
50 100

TP delay [ns]

TVC(c,b ch) (3 57

[ C =29.19 [ps/ch]

T rnan 2.2be+U5 [ 25
pO 4270+ 0.0
p1 -34.26+ 0.00

TVC(c,b ch) (3, 5

50 100
TP delay [ns]

[ C=28.78 [ps/ch]

T bsze+u6/25
pO 4329+ 0.0
p1 -34.74+ 0.00

_L
50 100

TP delay [ns]

TVC(C, bch) (3,5,15

T nun.us/e+us [ 25
po 4344+ 0.0
p1 -36.73+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,0

[ C =29.31[ps/ch]

A~ nui ozze+04 | 25
= po 4230+ 0.0
p1 -34.12:+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (36,4

- 1w 914e+04 [ 25
=5 po 4299+ 0.0
pl -36.66 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 6,8

T 1nuiz.412e+05 / 25
pO 4282+ 0.0
p1 -36.44 + 0.00

1
50 00

TP delay [ns]

TVC(cbch) (3,6,12

~ 1y .4ze+05 / 25
po 4266+ 0.0
pl -34.92+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,6,1

A i 7o revud | 25
e, po 4242+ 0.0
pL -34.6:+ 0.0

[ C =28.90 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 6,5

-1 Uz ysae+u4 [ 25
- pO 4315 0.0
p1 -37.47+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

TinuiLa//e+u6 /25
pO 4298+ 0.0
pl -35.95+ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, 6 13

-1 nue.443e+U5 [ 25
po 4281 0.0
pl -35.74 + 0.00

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000
3000

2000

4000
3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (3,6,2)

- C = 28.39 [ps/ch]

X~ 1L 7yse+u4 [ 25
-, po 4260+ 0.0
[ p1 -35.22:+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (36,6

-1 Uy bBBe+u4 | 25
pO 4314 0.0
p1 -36.79+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 6, 10

~nuiLyye+U6 / 25
po 4287+ 0.0
p1 -35+ 0.0

TP delay [ns]

TVC(cbch) (3,6,14

Ty, 44e+05 / 25
pD 4292+ 0.0
p1 -36.3+ 0.0

PR R R S R |
50 100

TP delay [ns]

TVC(cbch) (3,6,3

4000 k&,

A" 11w Boae+ud | 25
e po 4246+ 0.0
pL -34.56+ 0.00

3000 71

2000 - 7

199 C =28.94 [ps/ch] N, ]
gé i

TP delay [ns]

TVC(c,b ch) (3 6,7

-1 nui 634e+US | 25
po 4316+ 0.0
pl -37.74 % 0.00

4000 [
3000 ]
2000 [ 7]
1000 C ]
0 : -
50 00
TP delay [ns]

TVC(c,b ch) (3, 6

4000 [,

3000

2000

1000

EEALEVX uabe+u6/25
pO 4304+ 0.0
p1 -36.42+ 0,00

TP delay [ns]

TVC(c,b ch) (3, 6 15

4000 [,

3000

2000

1000

T nuisloe+U5 / 25
po 4294+ 0.0
p1 -35.56 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000
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AT 1nwuig /15e+04 / 25 AT rzze+U4 | 25 A” 1 nuizuug4e+ud [ 25 A~ 1w yase+ud | 25

4000 e, PO 4255+ 0.0 4000 po 4261+ 0.0 4000 __- po 4273+ 0.0 4000 e po 4274+ 0.0
pl -36.58 + 0.00 pl -36.8 £ 0.0 r pl -36.62+ 0.00 pl -35.7+ 0.0

3000

E 3000 - 3000 -

-1 3000

2000 E 2000 B 2000 2000

1000 N 1000 = 1000

wol C = 28.01 [ps/ch

L
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (63,4 TVC(cbch) (6.3, TVC(cbch) (63,6 TVC(c, bch) (63,

LTS A)uoeﬂJA 125 Trnar, i)SZE+U4 125 T, t?aaeﬂjd 125 ~narg, }uews 125
4000 fme, pO 4290+ 0.0 4000 e, pO 4291+ 0.0 4000 [, pO 4295+ 0.0 4000 fes pO 4301% 0.0
Pl -37.35: 000 Pl -36.31% 0.00 L PL_ -36.03% 0.00 Pl 3556+ 0.00

3000 B 3000 E aooof ] 3000 - E

2000 b 2000 B 2000 ] 2000 1

1000~ - [ ] [ ]
¢ wof C ol C = 27.76 [ps/ch ] ool C = 28,12 [ps/ch]N, 1
I L5 I il I L 5] I il
EY 00 50 100 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ehich=(6,3,8) TVC(eb.c)=(6,3,9) TVC(eb.ch=(6, 3, 10) TVC(ebeh)=(6, 3, 11)
T nusge+u4 [ 25 T, 21 /e+U5 /25 ~nuiL b4 /e+06 / 25 -1 zoye+u6 / 25
4000 f, pO 4293+ 0.0 4000 f, pO 4301% 0.0 4000 f, DO 4324+ 0.0 4000 [, 4304 00
Pl 3588+ 0.00 -35.2+ 0.0 [ PL_ -3555% 0.00 -35.36  0.00

3000

-1 3000 - - 3000 |~ - 3000 -

2000 7 2000 - - 2000~ - 2000 =

1 wol C = 28.41 [ps/ch]™., 7 ol C = 28.13 [ps/ch]y,_ ol C = 28.28 [ps/ch],_
1 1 - L 1 1 -] 1 1 -
50 100 0 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (6, 3 12) TVC(c,b Ch) (6, 3 13) TVC(c,b Ch) (6, 3 14) TVC(c,b Ch) (6, 3 15)
Tinuzuize+Us/ 25 T 1 41e+05/ 25 -1 i s4ye+U5 / 25 T 1z bzye+us / 25
4000 pO 4288+ 0.0 4000 pO 4276+ 0.0 4000 o PD 4279+ 0.0 4000 o, pO 4294+ 0.0
pl 3553000 Pl 3491000 I Pl -35.97+0.00 -36.18 + 0.00

- 3000
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2000 B 2000 [ - 2000 7] 2000

1000 1000
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TVC(CbCh) (6,6,0) TVC(CbCh) (6,6,1) TVC(CbCh) (6,6,2) TVC(CbCh) (6,6,3)
X1 s SyseUd 1 25 'x= 1 s Saserud [ 25 k=1 s seUd 1 25 'x= 1 s GoerU 1 25
2000 o 00 4255+ 0.0 4000 [, PO 4266+ 0.0 4000 po 4260+ 0.0 4000 [ po 4273+ 0.0
Pl -3527%0.00 Pl 3568+ 0.00 [ PL_ -3531% 0.00 Pl 3526+ 0.00

3000

- 3000 -1 3000 =1 3000 - -1

2000 -1 2000 -1 2000 = 2000 -

1000 -1 1000 N 1000

] wor C = 28.36 [ps/ch]

L 1 L
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (6 6,4) TVC(c,b Ch) (6, 6 ) TVC(c,b Ch) (6 6,6) TVC(c,b Ch) (6 6,7)
“nuiL /18e+04 / 25 T 3rse+ud [ 25 T z.44e+04 25 S rnan 3316404 1 25
4000 pO 4239+ 0.0 4000 e, pO 4267+ 0.0 4000 e, pO 4253+ 0.0 4000 e, pO 4265+ 0.0
Pl 3488+ 0.00 Pl -36.15:0.00 3 PL_ -35.32%0.00 Pl 3575000

-1 3000 [~

3000 - - 3000

- 3000 -

2000 E 2000 1 2000~ - 2000 -

w0 C = 28.67 [ps/ch] ] 1000 ] wol C = 28.32 [ps/ch] . wor C = 27.97 [ps/ch ]
% o % ] e o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ehich=(6,6,8) TVC(eb.c)=(6,6,9) TVC(eb.ch=(6, 6, 10) TVC(ebeh)=(6,6, 1)
© 1 nug,ubbe+ud / 25 < Ui ybbe+us / 25 -1 nun plie+us/ 25 <1y b1ze+us / 25
4000 o, pO 4275+ 0.0 4000 e, pO 4297+ 0.0 4000 fo DO 4309+ 0.0 4000 [, p0 4302+ 0.0
Pl 3549 0.00 Pl -34.62%0.00 [ PL_ -35.66% 0.00 Pl -34.84% 000

3000

7 3000 - 3000~ . 3000 - -1

2000 2000 ] 2000 E 2000

. wol- C = 28,04 [ps/chl]

1000 B w0 C = 28.89 [ps/ch] ™. . wor C =28.70 [ps/chl™s, 7
1 i L 1 1 -] 1 1 -
50 100 0 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(6612) TVC(cbch)(6613) TVC(Cbch)(661 ) TVC(cbch)(6615)
T 1y1e+u5/25 T nuiLgp3e+U5 / 25 ~ L 5use+U5 / 25 Tinuiz1/3e+U5/ 25
4000 pO 4287+ 0.0 4000 pO 4280+ 0.0 4000 pD 4276+ 0.0 4000 o, 4290+ 0.0
pl -35.55 + 0.00 pl -35.4 % 0.0 + -35.25+ 0.00 -35.91+ 0.00

- 3000 -

3000 -1 3000 -1 3000~ T

2000 -1 2000 - - 2000 |~ - 2000 -

] ool C = 28.37 [ps/ch]N, wob C = 27.85 [ps/ch

1oeo ] w0 C = 28.25 [ps/ch] ]
Igldlllllﬂlo-l -IIIIS(I)IIII1C=0-I- Illlgéllllll;l]-l

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(670) TVC(cbch)(671) TVC(cbch)(672) TVC(cbch)(673)
AT 1L rgre+u4 [ 25 A~ 1nuzusle+ud /25 A~ 11w yoge+ud [ 25 AL ysie+ud | 25
4000 [, po 4244+ 0.0 4000 PO 4270+ 0.0 4000 == po 4275+ 0.0 4000 e PO 4273+ 0.0
pl -35.3+ 0.0 pl -36.52+ 0.00 F pl -36.09 + 0.00 pl -35.36+ 0.00
3000 - 3000 -1 3000 L = 3000 N
2000 - 2000 I 2000 L = 2000 - 1

1000

1000 1000

wol C = 28.28 [ps/ch]

50 IUIO gé 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (6,7,4) TVC(cbch) (6,7,5) TVC(cbch) (6,7,6) TVC(cbch) (6,7,7)
Trna237e+04 /25 -1 nu bz4e+04 [ 25 Srnu Zye+ud [ 25 -1 nug.043e+04 / 25
4000 pO 4256+ 0.0 4000 [, 4268+ 0.0 4000 [, pO 4275+ 0.0 4000 pO 4273+ 0.0
Pl -34.59+ 0.00 -35.17+ 0.00 L pl -34.88+ 0.00 Pl -34.36% 0.00
3000 [ E 3000 [ E 3000} ] 3000 E
2000 B 2000 [ — 2000} ] 2000 e
wol- C = 28.91 [ps/ch] ™, 1 wor C =28.44 [psichy, 1 10F C = 28.67 [ps/ch]™,_ 7] 10 C =29.10 [ps/ch] s, 7]
1 1 - 1 1 - : 1 1 - e 1 1 -
50 00 50 100 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(eb,ch)=(6,7,8) TVC(eb,oh)=(6,7,9) TVC(eb,ch)=(6, 7, 10) TVC(e.heh)=(6, 7, 11)
©nug.syye+ud / 25 -1 1uig.9age+u5 / 25 ~ 1L b10e+U6 / 25 T i b13e+U6 / 25
4000 pO 4266+ 0.0 4000 pO 4278 0.0 4000 DO 4295+ 0.0 4000 P, p0 4305+ 0.0
pl -35.81+ 0.00 Pl -36.16+ 0.00 [ Pl -36.68+ 0.00 Pl -37.07:0.00

3000 -1 3000 - 3000 - 3000 1

e 2000

2000 - 2000

- 2000

1000 - 1000 -1 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(671 ) TVC(cbch)(6713) TVC(cbch)(67l ) TVC(cbch)(6715)
T, (roe+U5/ 25 Tz sore+us /25 ~ 1z, 034e+U5 / 25 TG 3/4e+05 / 25
4000 [m, pO 4307+ 0.0 4000 pO 4303+ 0.0 4000 [, PD 4305+ 0.0 4000 [, pO 4314+ 0.0
pl -36.15+ 0.00 pl -36.93+ 0.00 F pl -36.23+ 0.00 pl -36.45+ 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 -1 2000 = T 2000 -1 2000

1000 E 1000~ 1000 E 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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TVC(cbch) (6,8,0

A~ 1 nui 71ae+04 [ 25
e, po 4240 0.0
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TVC(cbch) (68,4

T rug.uL/e+ud / 25
- pO 4331% 0.0
p1 -38.72:+ 0.00

TP delay [ns]

TVC(cbch) (6 8,8

-1z pUse+U4 [ 25
e, po 4269+ 0.0
p1 349+ 0.0

TP delay [ns]

TVC(cbch) (6,812

~1nuizp4se+Us / 25
= po 4273+ 0.0
-35.57 + 0.00

[ C=28.11 [ps/ch]
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TVC(cbch) (6,8,1)
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e, po 4237+ 0.0
pl -34.62:+ 0.00
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1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

- nug 183e+u4 / 25
e pO 4312+ 0.0
p1 -37.53+ 0.00

TP delay [ns]

TVC(c,b ch) (6 8,9

T nuiL419e+U5 / 25
= po 4273+ 0.0
p1 -34.37 + 0.00

C =29.10 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 8 13
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-35.91+ 0.00
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3000 E 3000 - 3000 E 3000 E

2000 2000 4 2000 — 2000

1000 1000 4 1000 1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (6.10,12) TVC(c,b ch) (6.10,13) TVC(c,b ch) (6.10,14) TVC(c,b ch) (6,10,15)
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-1 U 8yoe+u4 / 25
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TP delay [ns]

TVC(c,b ch) (7 1,5

=1 nui Yyye+u4 / 25
- 4273+ 0.0
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[ pl -35.61+ 0.00

~ 1 nu,Uoge+Us / 25
- po 4293+ 0.0
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p1 -34.44 + 0,00

[ C=29.04[ps/ch] % 7]
% o
TP delay [ns]

TVC(c,b ch) (7, 1 15

1,15)
1y 452e+04 [ 25
=3 4282+ 0.0
-35.14+ 0.00
[ C=28.46 [ps/ch]\,_ 7]
e -
50 100

TP delay [ns]



TVC(c,b Ch) (7,2,0) TVC(c,b Ch) (7,2,1) TVC(c,b Ch) (7,2,2) TVC(c,b Ch) (7,2,3)
K- 1 do1e 04 ] 25 K- g4 re+Ud ] 25 K-z 21ievud [ 25 K1 zdo e+Ud ] 25
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1000 B 1000 - 1000 1000
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Srna A)bbe+UA 125 s J)UIE+U4/25 LA V)AAE+U4 125 T 2¢de+04/25
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TVC(ehe)=(7,5,0) TVC(Ebe)=(7,5,1) TVC(ehe)=(7,5,2) TVC(Ebe)=(7,5,3)
A~ 1L bule+ud / 25 A~ 1L psze+ud | 25 S ye+ud /25 A~ 1 zose+ud | 25
4000 po 4242+ 0.0 4000 [, po 42491 0.0 4000 [, po 4269+ 0.0 4000 s po 42741 0.0
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3000 E 3000 | E s000 - 3000 E
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-1 2000
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3000~ E 3000 - 3000} ] 3000 E
2000 ] 2000 1 20001 ] 2000 B
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